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(31 (1) lgz +pyl <pg+ay ---©
p>lzl >yl £
pq+ay > |zlly| + 2y =|ay[+2y 20
LoT, OQOWBIZIETHY
@ <= (gz+py)* < (pqg+ zy)?
ZZT
(pq + xy)* — (qz + py)* = p°¢* + 2pqzy + 2°y° — ¢*2* — 2pqay — p*y?
= 2% + 2%y — %2 — pPy?
=p*(¢* —v*) —2*(¢* — v°)
=(* - 2?)(¢* - v*)
THY, p>la], g>|yl £V p?>2? ¢ >y> THEHDH

»* =)@ —y*) >0
Tubb
(pq + zy)* > (g + py)*
WAL T B, L7255 T, |qu+py| < pg+ xy SALT 5. (FEF&)

2) lez+pyl>pgt+ay @
(i) pgtay=00LE
@« (- P’ —¢°) <0
@{m@, vl>a g
lz[>p lyl<q
(i) pg+azy<0DELE, @IE2RIILIT 5.
@), (i) &V, kD2 (z, y) OREBE

zy+pg=0
pq+ 2y =0 72 @ 7
pq+zy <0
Th), ThEKRT L ELGHOBEE S ;
DEHINTHRDL, 12770, BRIITRTCEE 0
<
N, Fp | P r
—q
7
xy—l—pq:O/
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flx)=az? +br+c &b

fO)=c - ©)

f)=a+b+c - ®

f2)=4a+2b+c ------ ®
Thh), @-@x2&D

2a —c = f(2) —2f(1) S 2a=f(2)=-2f(1)+ f(0) (. @©)
THY, f(0), f(1), f(2) BTN EEHTH L5, 20 1 3EHTH 5.
7, @&

2b=f(2) —2{f(2) —2f(1) + f(0)} — f(0)
=—f(2)+4f(1) = 37(0)

THY, f0), f(1), f(2) PTNLEHTHL05, 2b I 3HEHTH 5.
PEX D, 2a, 2013 QIZEHTH S, (FIEA)
mEERETH n=2moLZ

f(2m) = 4am? + 2bm + ¢

=2a-2m?>4+2b-m+c¢

THY, 2a, 2b, 2m2, m, c(= f(0)) FVTNHEKLDOT, f(2m) TEHTH 5.

n=2m-+1nkx
f2m+1) =a(4m?® +4m+1) +b(2m + 1) + ¢

=2a(2m* +2m)+2b-m+a+b+c
THY, 2a, 2b, 2m2+2m, m, a+b+c(= f(1)) TVTNLEHLOT, f(2m+1)
IBEETH .
DEXY, $XRTOEHnIZHLT, f(n) 3EETH 5. (FFAZ)
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(5] (1) %H - 51% 2* THID L

(:E+y)4 _ (1+%)4 ©)

$4+y4 £4
1+ (%)
%:t&iﬁ(k, >0, y>0%0
t>0
ThHH, O0fHBIE
(1+t)*
14+t
EEF, Ik f(t) EBCL
4(1+1)3(1+t4) —43(1 + t)?

7 = 1+ )2
A1 =) (1 + )3
(1+14)?
ThorNb, f(t) DEBITEDL)IZ% 5.
t ol---117]---
f'(t) + 10 -
f(t) LI

LoT, t=13hbbr=yDLE, WMAPORKELRLZODT, KbDDLHEANMEIE

8 (&)
(2) x>0, y>0 &V 2%y ORI E LB L

zlogx + ylogy

r+y=14&9
zlogx +ylogy = zlogz + (1 — z)log(l — x)

COfHBE glx) LB L
g’(x):10g:z+1710g(17x)71:10g1$

72, 2>0,y>0, z4+y=1%&D
O<x<l1

HOT, 0<x<1IZBIT5 g(x) DWERIITEDO L1245,

1
2
0

T 0
g'(x) -
g@) | | |08 | 2

1

+

g(z) iz = % DL ERINDORNTH Y, gz) PRADE X, 27y bR RD
DT, Kb D EIMEIL

1
: ®
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[6] (1) 0% sinaf = sinf %72 THRADIEDHETH 255
ad =7 —0
_ 0 s
=211 &
(2) HHOFHEER T OTHFE % KDL K < Y

0
S(a) = / (sinazr — sinx) dz y =sinx
0

0 .
= [—lcosax—i—cosx O r

a 0 0 x
(cosall — 1)+ cosf — 1 y = sinazx

cos(7r—9)+cos€+% -1

@|>—'®|>—'

Zicose—kcosH—i—i_l ...... (%)
a a
a+1cos ™ a—1 (%)

a a+1 a

(3) (x) &1
(a+msmy:a+1cmo+@+¢n%9+ 21 (a+1)

:a+1cost9+a+1 + (a+1)(cosf — 1)

a
:a21c059+a+1 2s1n29
sinﬁ
:_a;Ll a+17ﬂ'sin%~ ﬁ2
2

() &Y, a—s00DEE §50THLNH
lim (a+1)S(a) =2 (%)

(7] R(z, 0, 0) £B<. RAMY o 2 2P CZ OVEZYINT2 L, WiHiZA PQR
a&n Z ORI
—PR QR—% 22(1 —sinx)
;of, RODLVEOFRE V B L

3
V= / L os? (1 —sinz) dx
0 2

z
= l/ (‘3052756“ — sin z cos? z) dx
2 Jo 2

N PSS O
—2{451112:6—1—24—3(:0540
:371'—4 (’:&)

24 8
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[8] MHoHL %2 O L5 &
/AOP; = /P,,OP;41 = /P, _,0B
v
=7 (k=1,2, -+, n—2)
ThHhoHID
P
Lk = SIn ——

T
n
LT

1

1
. 1
= sinTxdr = |—— cosmx
0 ™ 0

-2 @
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